goooooooo
00 00 (DooOooooooon)

g O odd prime power DOOOF, 00 nO000000000000O0O0O0O0O0O0O0O0OO
O fO0000 Witt index 0 (00 00O nonzero vector 0 f 0000 non-singular 000) 00
0000000000 LOOOOf000000D00 LxLOOOOOODOO orbitOO0O0O
goooooooon

00000000000 DOO000OoDO GO0o0bO00n0 HooOoooooooooood
goooooo

Xo : F, 000 200000, —|Xo|: nonsquare in Fy,
Yo : F,000 (n—2)00000, |Yo| #0

G ;:{Secﬂxmq)’s<4“)}6>15::<A5 K)>}

(00000 S0O0000D000O0)
A A:200000,
H ;{< D)EG}<D:m—mDDDDD>
Hy = {A€GL(2,q) | AXo'A = Xo},Hs := {D € GL(n—2,q) | DYy'D = Yo}, 00000 H O

H,xH, OOOOODO
OO0 GgHOOODOOOOoOOoooDod:

oo o.
A B

S-(C D)eGQ&B@ﬂ)DDDDD2x12xm—m4n—mxzm—mx@%4)
000000)0000 (rankB, —|BYy'B|, —|Xo— BY,'B|) 0000000 g: 8+ g(S) OO
00000000 g Y(rk,k) 00000O0000D0GO HOOOOOOODOOOOOOOO
00000000000000000 ¢gY(rki,k)00000000000000000000O
00000000000000

(i) (r, k1,k2) = (1,0,») 000Og %(1,0,») 0 HOODOODODOOOOOOOOOOOOOOO
00000000000:

(A B 1 ‘BX,'B = b

{S N ( C D ) €9 (1,0.7) ’ b : nonzero (n — 2)-row vector |’
(A B 1 ‘BX,'B =vbb

{S N ( C D ) €9 (1,0,7) ’ b : nonzero (n — 2)-row vector [’

O0000v 0O F, OO0 nonsquare element.
(i) 0000 a,d €eF, 00000

va? + (ks — k1 — v)z + ki1 = v(z — a)(z — d),



00000O0g ', k,k) 0 HOOOODODODDOODOODODDOODOOOODOODOOOOOOOO

oo:
{Sz(A B)egl@m¢ﬂ’“”%“%B%%_axﬂz%b},

C D b : nonzero 2-row vector

{S:<A B)ey%um@w(d_MAB%@_m%FW%b}

C D b : nonzero 2-row vector

00 100000000000000000 ¢ '(,k,k)0000000000000000O0
OO0OHSH=HS'HOOOOg(S)=¢(S) 0000000000000 0000000000O
gbobooboooboooo

!/ !/
go gd. Sz(é g>,5'2<é, g,)GGDDDDDDDDDHS’H:HS’HDDD

oDo00oo0oooon
IAg € Hy,?Dy € Hy such that B' = AgBD,
000000000

00 0. §,000000000000000000000¢(8)=g(8")+#(1,0,v) (0000
() 000000000)0000

IAg € Hy,?Dy € Hy such that B' = AgBD,
0000000000000

FAg € Hy such that Ay(BYy'B)'Ag = B'Y,'B’
D0O000O000O

0000000000¢g(S)#(1,0,») 000 SOO0000D00D0000000000O000O0
000000000000 H, 00000000000000000000000000000
O00g(S)=(1,0,»)00000000000000000O0ODO (()000000

00000000000000000 H OOF 00000 0@3,¢) 0000 O(3,q)e(~
07(2,¢)) 0 index2000000000000000 = (2,23,29) 00 O(3,¢q) 00000
fo(w1,x9,23) =129+ 23 000000000000 fo(xg): nonsquare in F, 000 vector O
00000000000000 ()00000(»1),0) 000 ¢ ', ki, k) 0000000000
ODo0oooooooo

000000000000 000D00G 0O HOOO permutation character 1% O multiplicity-
frre0000000000000D0D0O00O0OO SeGO00000SO S™'000 HOOO
000000000000 1§ 0 multiplicity-frre 100 00000000000000000
ud:



oo g.
g i, k1,ke) 0000000000 DOg (i, k1, k) 000 1. 0 (i) 000D0DODOODODOOO
00008 €g (i,ki,ko) DOOODO0OHS 'H=HSHOOOO
g (i, k1, ko) 0 000D a,d €eF, 00000va?+ (ka— k1 —v)z+ki =v(z—a)(z—d)0O
00000000000 «#1 00000000 Se€g ik, k) DOO0O00HS 'H =HSH
0000000000000 1—d :square 000000000

Xo'AX;t Xo'ovy!

DDDDDDDD( Yo'BXT YDyt

A B)EGD inverse 0 (

c D )DDDDDDDD

oooboobooboo
oooGoOoooooooooooooo:

ol XO tg XO 3 X
G.-{SEGL(n,q)‘S( Y())S—A( Yb) )\EFq}

gobodbooobooboobobon

oo o.
nmeven00D0DG<G<GOOOODOGOOOOO

A G A:200000,
D€ D:(n—2)00000

H :=

—

goooaoo

3T € G such that T < Xo v ) T =X ( Xo ) for some nonsquare A
0

Yo

ooooooo SG@DDDDDﬁS‘Iﬁ:ﬁSfIDDDDDDDDDD1§D multiplicity-free
0000@O0000G=G00000000000)



